3.0: RULES:

3.1: Scale:

3.1.1: Tactical: 1 turn equals 30 seconds and one hex is .5 light seconds (LS) across.
3.1.2: System: 1 turn equals 30 minutes and one hex is 30 light seconds (LS) across.

3.2: Turn sequence:
1: Initiative phase

2: Movement phase

3: Combat phase

4: End-of-turn phase

3.3: Other rules:
3.3.1: Datalinks

3.3.2: Tractor/presser beams

3.3.3: Fighters

3.3.4: Space stations

3.3.5: Ground bases/asteroid bases

3.3.6: Ramming

3.3.7: Damage control

3.3.8: Long-term mobility

3.4:Tables:

3.4.1: Phased movement chart

3.4.2: Shear plane cutting probabilities

3.4.3: Anti-missile fire

3.4.4: Detection

3.4.5: ToHit vs. Starships

3.4.6: Damage vs. Starships

3.4.7: ToHit vs. smallcraft

3.2.1: Initiative phase:

1: Designate flagships. All ships that are to operate within 30 LS (60 tactical hexes) of each other must have one of them designated as flagship (NOTE: A group of datalinked ships count as a single ship in this case, they do not need a flagship until the datalink is lost). A force without a flagship suffers a -1 penalty to initiative. If there are no flagship a new ship may be selected as flagship but it will take 1D10 turns for it to take command, if the former flagship is still active (i.e. a voluntary change of command) this time is halved (round up). If a commanding officer transfers to a new flagship (by cutter) it will take him ½D10 (round up) turns after he has arrived to become effective.

2: Calculate initiative modifier:


No flagship (if two or more ships/datagroups)
-1


No Flag bridge on flagship (ignore for single ships)
-1


(CIC) on flagship


+1


Commanding officer on flagship

+1

3: Roll initiative. Roll 1D10 plus modifier for each force or single ship.

3.2.2: Movement phase:

3.2.21: Combat movement: The unit with the lowest initiative roll uses one movement point (either spends it in place or moves one hex). If any ship has spent a number of movement points equal to its turn mode since its last turn it may now turn again. When all ships has moved the unit with the second lowest initiative roll moves and so on until all ships has used one movement point. Then start again with the unit with the lowest initiative roll that still has unspent movement points. Special cases:

-Partial engine rooms: Partial engine rooms will continue to provide movement points for at least 24 hours (longer than any normal battle). However during long chases it becomes important to remember that partial engine rooms are not operating. Partial jump engine rooms may not be used.

-Launching fighters: A fighter launch may be declared at any point in movement, the ship moves as usual and the fighters appear in the same hex facing the same direction as the launching ship.

-Recovering fighters: To recover fighters a ship has to spend one movement point together with the fighters in a hex, thereafter the fighters are removed from the board.

-Launching small craft: To launch small craft a ship has to shut down its drive for one movement point (that movement point does not count for turning). This also means that if the ship is fired upon in the combat phase there is a 1 in 6 chance of the fire arriving when the ship is ”drives down” (see below).

-Recovering small craft: To recover a small craft a ship has to start the turn in the same hex as the small craft and must then shut down its drive for the entire turn. Which means that the ship will be stationary and ”drives down” for the entire combat phase (a good way to die fast).

-Stationkeeping drives: When moving normally a ship has 60o ”blind spot” to its rear where it can not engage any targets. By reconfiguring its drives to ”stationkeeping mode” a ship loses its blind spot but also loses its movement, so this can be useful for slow vessels surrounded by several enemy vessels. It takes one turn ”drives down” to change between normal and stationkeeping mode.

3.2.22: Long-range movement: if there are no enemies within 30 LS (60 hexes) ships will move on a ”system map” where each hex are 30 LS across and blind movement is possible (remember that best possible detection range against enemy starships are 20 hexes at this scale). On this map each turn are also 60 times longer then a combat turn so turn mode and small craft/fighter launching/recovery has no effect on movement.

3.2.23: Hidden movement: System scale movement is based on phases (as shown on the table below) to minimize the advantage for fast ships. When moving any vessel may declare that it is either intercepting or avoiding any enemy vessels, the main effect of this is that intercepting vessels will usually move last (towards their target). If any vessels move outside their enemies’ detection range they may immediately be replaced with 2 ”boogie” markers (1 representing the ship and one dummy). If an enemy vessel ends a phase within detection range of a boogie marker the player may ask that it be revealed, if the marker represents a vessel that is a smaller sensor target than asked for it need not be revealed. If it was the enemy’s movement that brought it into detection range and the enemy vessel was already inside detection range of friendly vessels the boogie may shut down its drive (and stop moving) to reduce the enemy’s detection range.

Combat usually starts when at least one vessel has moved within detection range of at least one enemy vessel, before that the only data of interest is the fleets’ movement formation (which will be fairly constant under most circumstances).

3.4.1: Phased movement chart:
	
	Phase

	Move
	1
	2
	3
	4
	5
	6
	7
	8
	9
	10
	11
	12

	1
	
	
	
	
	
	
	X
	
	
	
	
	

	2
	
	
	
	X
	
	
	
	
	
	X
	
	

	3
	
	
	X
	
	
	
	X
	
	
	
	X
	

	4
	
	X
	
	
	X
	
	
	X
	
	
	X
	

	5
	
	X
	
	X
	
	
	X
	
	X
	
	X
	

	6
	
	X
	
	X
	
	X
	
	X
	
	X
	
	X

	7
	X
	
	X
	
	X
	
	X
	X
	
	X
	
	X

	8
	X
	
	X
	X
	
	X
	X
	
	X
	X
	
	X

	9
	X
	
	X
	X
	X
	
	X
	X
	X
	
	X
	X

	10
	X
	X
	
	X
	X
	X
	X
	X
	
	X
	X
	X

	11
	X
	X
	X
	X
	X
	
	X
	X
	X
	X
	X
	X

	12
	X
	X
	X
	X
	X
	X
	X
	X
	X
	X
	X
	X


3.2.3: Combat phase:

The unit with the highest initiative roll fires with one ship, datagroup of ships or fighter squadron.

-Firing arc: All starships with their drives in normal mode (see below) have a 60o blind spot to the rear where no weapons may fire. Fighters/small craft only have a 60o firing arc forward so it’s very important to approach the target from the right direction with fighters.

-Range/ToHit: Every ship that fires cross-references the weapons fired with the range to the target on the ”ToHit vs. starships” table and adds all modifiers to that number. The ToHit roll cannot be modified to 0 except if the starting roll was 1 and cannot be 10 except for a starting value of 10. 1D10 is rolled for every weapon, a score equal or less than the ToHit number indicates a hit.

-Firing at multiple targets: A vessel or group of datalinked vessels may engage one (base) plus the sum of all multiplex tracking systems (”Mx” and ”Mix”) targets without modifiers. For each additional target all anti-ship/anti-fighter fire suffer a -1 ToHit modifier.

-Anti-smallcraft fire: Small craft (not fighters) may be attacked using the normal anti-ship ToHit tables. SC have a “LC DEF” value that modifies the ToHit of any weapon fired at them using anti-ship ToHit values. Add the weapon’s damage to the ToHit roll as well. This value is never modified by ECCM, but works like ECM in all other regards. Weapons fired at small craft do not have to be aimed at specific small crafts/squadrons, if not aimed at specific targets randomize hits against all enemy fighters and/or other small crafts in the target hex.

Example: A Lx at range 5 (ToHit 8,damage 3) is fired at a Gunship (LC def –5). The Gunship is hit and killed on 6 or less. 
-Anti-fighter fire: Attacks against fighters are resolved in the same way as anti-ship fire but use a different ToHit table. Point defense systems may not be used as anti-fighter weapons if they have been used to intercept missiles in the same combat phase. Other small craft may also be attacked using anti-fighter ToHit values, but the hit number is modified using the SC’s “SC DEF” value.

-Point defense fire: A unit hit by missiles with an EW value may use any of its weapons that are capable of anti-missile fighters (se table below) that has not been used offensively.

-Record damage: Cross-reference the range with the weapon that hit on the ”damage vs. starships” table. All weapons cause damage in the order they are fired as soon as they are fired (except for engines, see below), so beam weapons fired before missiles may knock out point defense system before they fire. Fighters and small crafts have no damage capacity and are destroyed by any hit.

-Exceptions to damage order: Engines remain in operation until the current salvo has ended. This means that even if the engines are destroyed before all missile damage has been recorded the interdiction effect will still be there and the missiles will cause normal damage.

-Engine damage: If a ship takes engine damage in a non-linear order (i.e. if it has been hit by primary or needle beams) ignore where the damage was actually caused and mark of the first working engine.

-Shields down/streaming atmosphere/drives down: when a ship has lost all its shields its player must announce that it is ”shields down” and when it has lost all its armor the player must announce that it is ”streaming atmosphere”. If a ship loses all engines or voluntarily shuts them down it must be announced as ”drives down” and suffer the following effects: all weapons fired at it has a base ToHit of 10 irrespectively of what their normal ToHit is (this do not apply to vessels launching small crafts) and all missiles that causes damage inside the shields do 5 times their normal damage.

-Loss of command structure: each “B” (Bridge) system aboard a starship can handle up to 6 combat systems (weapons (but not missile tubes), point defense, shear planes, datalinks/fire coordinator centers or fighter squadrons) simultaneously or a single navigation computer. If a system with a ToHit roll has to fire without central command it fires with a –2 penalty (-1 versus fighters/small craft, HAWK missiles ignore this modification when firing on internal tracking). Offensive use of datalinks are impossible (point defense is still active). Fighters have to be launched and recovered like small craft and take twice as long to reload. Navigation computers are useless unless there are at least one intact “B” left on the ship. Note that “Bb” or “Ba” systems handle a different number of combat systems.

3.2.4: End-of-turn phase:

1: Command

2: Fighter reloading

3: Readying fighters
4: Damage controlling shields

5: Reduce fighter endurance

-Command: If you are changing command for a unit, reduce the time remaining before the change is completed by 1.

-Fighter reloading: If you have recovered fighters for reloading start counting turns elapsed, it takes 5 turns to rearm a fighter.

-Readying fighters: If you are readying fighters from hangar bays (”Vh”) or returning them reduce the time remaining by 1.
-Damage controlling shields: If any of your vessels are in damage control mode they recover lost shields at a rate of one tenth of the starting number of shields per turn.

-Reduce fighter endurance: All fighters have an endurance listed in the ”fighters and small craft” table. This is the time it may use its engine for movement, not life support, so it is possible to stay outside a carrier for much longer than the endurance suggests (up to 24 hours) if you do not move.

This only applies to fighters, not small crafts. Small crafts can run their drives until they run out of air.

If you have moved fighters this turn, reduce their endurance by 1.

3.3: Other rules:

3.3.1: Datalinks: The basic effect of a datalink is to allow 2 or more ships to fire as one. All weapons fire from a group of datalinked ships is considered a single salvo for point defense and overload dampers. Several types of point defense can protect other ships datalinked to the carrying ship.

3.3.11: Changing datalink partners: To change a datagroup takes ½ hour (1 system turn).

3.3.12: Fire coordinator center: A ship carrying a (FCC) of any generation can, at the beginning of the combat phase, choose a number of ships up to the number allowed by the mounted system to fire as one group. The group is taken out of the normal firing sequence during the combat phase and fires after all other units have fired. If there are units using (FCC) on more than one side in a battle, they fire in initiative order.

3.3.2: Tractor/presser beams: A tractor or presser beam is fired as a regular beam weapon with a maximum range of 5 (8 in case of ”Tc”). Ships linked by a tractor beam may not move away from each other and is dragged (or drags, the smallest ship moves) one hex closer at the end of every movement phase. To figure the movement of to two or more tractoring/tractored vessels that try to move away from each other calculate have much movement they would get if they were one ship with the size of all the tractored ships added together, each ship using its engines to either add to or subtract from the total number of engines moving the ship (note that if this speed is lower than the speed of any ship in the chain the ship in question may still move, but not away from the chain). If the result is positive the ship with the largest number of engines that ”pulled” in the chain moves it, with all other ships following. If the result is negative the same things happen, but the ship with the largest number of engines that ”dragged” in the chain moves. A presser beam has the same movement effects as a tractor beam except that instead of being pulled together the ships will be pushed apart, so if neither ship wants to try and close or the faster ship can start to move away immediately (i.e. it is facing away from the other) they can simply make normal moves as long as they end up at least one hex farther away from each other. A ship pushed out beyond 5 hexes range is free to move in any way it wants next turn.

3.3.21: Shear planes: A shear plane may cut a tractor lock on the mounting ship after the combat phase. The chance of cutting a tractor beam depends upon how many tractors you are trying to cut, see below:

3.4.2: Shear plane cutting probabilities:

	Number of tractor links:
	60
	25
	15
	10
	7
	5
	4
	3
	2
	1

	Chance of cutting each link:
	1
	2
	3
	4
	5
	6
	7
	8
	9
	10


Cutting a ”Tc” tractor link is at a -2 penalty.

3.3.22: Combat effects: A ship tractoring or pressing (i.e. they move as one unit) another may modify the range to the target by 3 for ToHit purposes only. A ship that is tractored (not pressed) automatically hits with any missiles it fires at the tractoring vessel. A tractor beam also negates any fire-confusion ECM (?a, ?b, ?c, ?d or ?2 operating as ?d) the target has and makes it possible for the tractoring vessel to fire at it in its blind arc.

3.3.3: Fighters: Fighters have a built-in datalink able to link up to 6 fighters into a single squadron for movement and combat purposes. In most cases grouping fighters into the largest possible groups possible on each carrier is recommended (if nothing else it reduces the number of markers on the map).

3.3.31: Gunships: Gunships have a built-in datalink just like fighters, but only able to link up to 4 gunships.

3.3.4: Space stations: A space station is always ”drives down” (it may not have any type of drive) and all the rules for ”drives down” vessels apply. In addition its structure is not stable enough to withstand the stresses caused by tractor and presser beams and it takes 3 points of damage (ignoring shields) for each such beam that hits it. If a space station takes internal damage randomize which system has been hit (before combat calculate how much of the station is taken up by each type of system and make up a table for it). Needless to say, space stations don’t tend to last very long once they become a target.

3.3.5: Ground bases/asteroid bases: ground bases and asteroid bases take damage as space stations (i.e. they have no record sheet) but are immune to tractor/presser beams and only take x2 damage from missiles (x3 in atmosphere)
3.3.6: Ramming: Ramming a mobile ship is almost impossible (if you are faster AND more maneuverable you have a 1% chance of success, and the target will get of a salvo with all weapons first, with a base ToHit of 10 at range 0). If both ships are trying to ram (chicken race, anyone?) the hit probability rises to 90%. If you try to ram a stationkeeping vessel, the hit probability is 2% times ([your movement]+[Targets Turn Mode]-[your Turn Mode]) and the target still gets to fire as above. If you try to ram a ”drives down” target, your hit probability is 10, -1 if target has ?b or ?c, -2 if the target has ?d, but the target still gets to fire as above.

3.3.61: Damage from rams: A successful ram does ½D10 times the size of the opposite vessel points of damage, taken left to right as from a missile. If the victim was in stationkeeping mode the rammer only takes ½ damage. If the victim was ”drives down” all damage inside the shields are multiplied by 5 (again, as from a missile) and the rammer only takes ¼ damage. Please note: an asteroid base counts the asteroid it is placed on as part of its hull (generally more than 1000 hull spaces…Ouch).

3.3.62: Drive damage from rams: A successful ram also destroys 1/10 D10 times the opposites vessels engines OR 1/100 D10 times its hull size (whichever is more) number of engines, halved if ramming a stationkeeping vessel and quartered if ramming a ”drives down” target.

3.3.7: Damage control: a ship may in the initiative phase declare “damage control”. In the following turn it may only move at half speed, it must shut down all shields, it may not fire any offensive weapons (but it may retain any tractor locks, even on hostile vessels), all point defense fire at –2 (no command), no fire confusion ECM is active and any damage that penetrates the armor is doubled. While the ship is damage controlling the shields are restored (see 3.2.4) and missile tubes may be reloaded.

3.3.8: Long-term movement: A ship may not run forever at maximum engine output. After a certain time the radiation produced by the drive field starts to affect the ship and crew itself, with system failures coming soon after. The maximum time a ship can operate at a certain speed is determined as follows:

(Ship size + ½ total hull spaces carried on “@”) / (sustained speed squared) years.

Example: A size 60 CA carrying three size 10 LACs on racks can run at speed 5 for: (60+(3*10)/2)/(5*5) = 3 years. The LACs themselves would only be able to sustain the same speed for (10)/(5*5) = 0.4 years, slightly more than 4 months. At maximum speed (10) they would have to shut down after just 1 month...

This is not normally important insystem, but ships sometimes has to make STL runs for very long distances (usually when surveying).

3.4.3: ANTI-MISSILE FIRE:
Number of missiles that may be engaged at specified ToHit:

	
	BASE TOHIT:

	Defense rating
	1
	2
	3
	4
	5
	6
	7
	8
	9

	1
	1
	
	
	
	
	
	
	
	

	2
	3
	1
	
	
	
	
	
	
	

	3
	6
	3
	1
	
	
	
	
	
	

	4
	10
	4
	2
	1
	
	
	
	
	

	5
	20
	8
	4
	2
	1
	
	
	
	

	6
	25
	12
	7
	4
	2
	1
	
	
	

	7
	32
	15
	9
	6
	4
	2
	1
	
	

	8
	36
	18
	12
	8
	6
	4
	2
	1
	

	9
	50
	24
	15
	10
	7
	5
	3
	2
	1


Modifiers: missile EW number, ½ ”Mix” bonus, range modifier if engaging missiles targeted at another vessel. Several point defense systems may gang up on the same missile to reduce the missiles EW number or range modifier, but the ToHit may not be better then the worst of the engaging ”D” systems.

3.4.4: DETECTION:
Range at which a vessel may be detected given specified sensor equipment:

	
	Range of specific sensitivity:

	
	Active scan:
	Passive scan:

	Sensor rating:
	0
	1
	2
	3
	4
	0
	1
	2
	3
	4
	5
	6
	7
	8
	9
	10
	11
	12
	13
	14

	1
	0”
	1”
	1½”
	2”
	3”
	-
	-
	0”
	1”
	2”
	3”
	4”
	6”
	8”
	12”
	20”
	30”
	45”
	50”
	1’

	2
	½”
	1½”
	2½”
	3”
	4”
	-
	0”
	1”
	2”
	3”
	4”
	6”
	10”
	15”
	30”
	45”
	1’
	75”
	90”
	2’

	3
	1”
	2”
	3”
	4”
	6”
	0”
	1”
	1½”
	3”
	4”
	7½”
	10”
	15”
	20”
	45”
	1’
	90”
	2’
	2½’
	3’

	4
	1½”
	2½”
	4”
	6”
	7½”
	½”
	2”
	3”
	5”
	6”
	10”
	15”
	20”
	25”
	1’
	90”
	2½’
	3’
	4’
	5’

	5
	2”
	3”
	5”
	8”
	10”
	1”
	3”
	5”
	7½”
	10”
	15”
	20”
	25”
	30”
	75”
	2’
	3’
	5’
	6’
	8’

	6
	2½”
	3½”
	6”
	10”
	15”
	2”
	4”
	7½”
	10”
	15”
	25”
	30”
	35”
	45”
	90”
	3’
	6’
	7½’
	9’
	12’

	7
	3”
	4”
	7”
	12”
	20”
	3”
	6”
	10”
	12”
	20”
	30”
	35”
	45”
	1’
	2’
	4’
	8’
	12’
	16’
	20’

	8
	3½”
	5”
	8”
	15”
	25”
	4”
	8”
	12”
	15”
	25”
	35”
	45”
	75”
	90”
	3’
	6’
	12’
	18’
	24’
	30’

	9
	4”
	6”
	10”
	20”
	30”
	5”
	10”
	15”
	20”
	30”
	45”
	1’
	90”
	2’
	4’
	8’
	16’
	24’
	32’
	40’


Target signature (required sensitivity):

	
	Target data available at specific sensitivity:

	
	Active scan:
	Passive scan:

	Target:
	0
	1
	2
	3
	4
	0
	1
	2
	3
	4
	5
	6
	7
	8
	9
	10
	11
	12
	13
	14

	Starship
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	-

	Cloaked, shutdown 
	P
	S
	T
	-
	-
	T
	C
	-
	-
	-
	-
	-
	-
	-
	-
	-
	-
	-
	-
	-

	EM masked
	P
	S
	T
	T
	-
	T
	T
	T
	C
	-
	-
	-
	-
	-
	-
	-
	-
	-
	-
	-

	Cloaked
	P
	S
	T
	C
	-
	I
	I
	T
	T
	-
	-
	-
	-
	-
	-
	-
	-
	-
	-
	-

	Shutdown
	P
	P
	S
	T
	T
	T
	T
	T
	T
	C
	-
	-
	-
	-
	-
	-
	-
	-
	-
	-

	Masking ECM
	P
	P
	S
	T
	C
	I
	I
	I
	T
	T
	C
	C
	C
	D
	D
	-
	-
	-
	-
	-

	Stationkeeping
	P
	P
	S
	T
	C
	I
	I
	T
	T
	T
	C
	C
	C
	C
	D
	D
	-
	-
	-
	-

	Active
	P
	P
	S
	T
	C
	I
	I
	I
	T
	T
	C
	C
	C
	C
	C
	D
	D
	-
	-
	-

	PDC
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	In atmosphere
	P*
	S*
	T*
	-
	-
	T*
	T*
	T*
	T*
	-
	-
	-
	-
	-
	-
	-
	-
	-
	-
	-

	In vacuum
	P
	S*
	T*
	T*
	-
	T
	T*
	T*
	T*
	T*
	-
	-
	-
	-
	-
	-
	-
	-
	-
	-

	Asteroid fortress
	P
	S
	T
	T*
	T*
	T
	T
	T*
	T*
	T*
	-
	-
	-
	-
	-
	-
	-
	-
	-
	-

	Smallcraft
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	-

	Shutdown SC/fighter
	S
	T
	C
	-
	-
	T
	D
	-
	-
	-
	-
	-
	-
	-
	-
	-
	-
	-
	-
	-

	Active smallcraft
	S
	T
	C
	-
	-
	T
	T
	T
	T
	C
	C
	D
	D
	-
	-
	-
	-
	-
	-
	-

	Active fighter
	S
	T
	C
	-
	-
	T
	T
	T
	C
	C
	D
	D
	-
	-
	-
	-
	-
	-
	-
	-

	Population
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	-

	IND-1 population
	-
	-
	-
	-
	-
	S
	D
	-
	-
	-
	-
	-
	-
	-
	-
	-
	-
	-
	-
	-

	Outpost
	S
	D
	-
	-
	-
	S
	D
	D
	D
	D
	-
	-
	-
	-
	-
	-
	-
	-
	-
	-

	Settlement
	S
	S
	D
	D
	-
	S
	S
	D
	D
	D
	D
	D
	D
	-
	-
	-
	-
	-
	-
	-

	Small
	S
	S
	S
	D
	D
	S
	S
	S
	D
	D
	D
	D
	D
	D
	D
	D
	-
	-
	-
	-

	Medium
	S
	S
	S
	S
	D
	S
	S
	S
	S
	D
	D
	D
	D
	D
	D
	D
	D
	D
	-
	-

	Large
	S
	S
	S
	S
	D
	S
	S
	S
	S
	S
	D
	D
	D
	D
	D
	D
	D
	D
	D
	-

	Very large
	S
	S
	S
	S
	S
	S
	S
	S
	S
	S
	S
	D
	D
	D
	D
	D
	D
	D
	D
	D

	Planet
	S
	S
	S
	S
	S
	S
	S
	S
	S
	S
	S
	S
	S
	S
	S
	D
	D
	D
	D
	D


P: Precision targeting.

S: Target size

I: Target drive power

T: Targeting

C: Individual count

D: Detection

*: If the PDC/AF has not given away its location by using active systems it cannot be detected

WEAPON ToHit AND DAMAGE:
3.4.5: ToHit vs. starships:

	
	RANGE:

	WEAPON:
	0
	1
	2
	3
	4
	5
	6
	7
	8
	9
	10
	11
	12
	13
	14
	15
	16
	17
	18
	19
	20
	21-24
	25-30
	31-40

	Beam (any)
	9
	9
	9
	8
	8
	8
	7
	7
	7
	6
	6
	6
	6
	5
	5
	5
	5
	4
	4
	4
	4
	3
	2
	1

	Kinetic
	6
	7
	7
	7
	7
	7
	7
	6
	6
	6
	6
	6
	6
	5
	5
	5
	5
	4
	4
	4
	4
	3
	2
	1

	Pg (any)
	9
	9
	8
	8
	7
	7
	6
	5
	4
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	


Modifiers: ”Mix” bonus, targets ECM modifier (?a, ?b or ?c if any), +2 if firing at a stationkeeping vessel, automatic 10 if firing at a ”drives down” vessel (all cumulative). I.e. best possible ToHit is 10-targets ECM.

3.4.6: Damage vs. starships:

	
	RANGE:

	WEAPON:
	0
	1
	2
	3
	4
	5
	6
	7
	8
	9
	10
	11
	12
	13
	14
	15
	16
	17
	18
	19
	20
	21-24
	25-30
	31-40

	Lb
	2
	2
	2
	2
	1
	1
	1
	1
	1
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	L/Li
	3
	3
	2
	2
	2
	2
	1
	1
	1
	1
	1
	
	
	
	
	
	
	
	
	
	
	
	
	

	Lp/La
	4
	4
	3
	3
	2
	2
	2
	2
	1
	1
	1
	1
	1
	
	
	
	
	
	
	
	
	
	
	

	Lx
	4
	4
	4
	4
	3
	3
	3
	3
	2
	2
	2
	2
	2
	1
	1
	1
	1
	1
	1
	
	
	
	
	

	Lc
	5
	5
	4
	4
	3
	3
	3
	2
	2
	2
	2
	2
	1
	1
	1
	1
	
	
	
	
	
	
	
	

	Lh
	7
	7
	6
	6
	5
	5
	4
	4
	3
	3
	3
	2
	2
	2
	1
	1
	1
	
	
	
	
	
	
	

	Fb
	2
	2
	2
	2
	2
	2
	2
	1
	1
	1
	1
	1
	1
	
	
	
	
	
	
	
	
	
	
	

	F
	3
	3
	3
	3
	2
	2
	2
	2
	2
	2
	1
	1
	1
	1
	1
	1
	
	
	
	
	
	
	
	

	Fc/Fv
	4
	4
	4
	4
	4
	4
	3
	3
	3
	3
	3
	2
	2
	2
	2
	2
	1
	1
	1
	1
	1
	
	
	

	Fi
	3
	3
	3
	2
	2
	2
	2
	2
	2
	1
	1
	1
	1
	1
	1
	
	
	
	
	
	
	
	
	

	Fa
	4
	4
	4
	3
	3
	3
	3
	2
	2
	2
	2
	2
	1
	1
	1
	1
	1
	
	
	
	
	
	
	

	Fx
	6
	6
	5
	5
	5
	4
	4
	4
	4
	3
	3
	3
	3
	3
	2
	2
	2
	2
	2
	1
	1
	1
	
	

	P/Fv
	1
	1
	1
	1
	1
	1
	1
	1
	1
	1
	1
	1
	1
	
	
	
	
	
	
	
	
	
	
	

	Pc/Fx
	2
	2
	2
	2
	2
	2
	2
	1
	1
	1
	1
	1
	1
	1
	1
	1
	1
	1
	1
	
	
	
	
	

	Eb
	4
	3
	3
	2
	2
	2
	1
	1
	1
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	E/Ea
	5
	4
	4
	3
	3
	2
	2
	2
	1
	1
	1
	
	
	
	
	
	
	
	
	
	
	
	
	

	Ec/Ev/Ex
	6
	6
	5
	5
	4
	4
	4
	3
	3
	3
	2
	2
	2
	1
	1
	1
	
	
	
	
	
	
	
	

	N
	1
	1
	1
	1
	1
	1
	1
	1
	1
	1
	1
	1
	1
	
	
	
	
	
	
	
	
	
	
	

	Kb
	6
	6
	5
	5
	5
	4
	4
	4
	3
	3
	3
	2
	2
	2
	1
	1
	1
	
	
	
	
	
	
	

	K
	5
	5
	5
	5
	4
	4
	4
	4
	3
	3
	3
	3
	2
	2
	2
	2
	1
	1
	1
	
	
	
	
	

	Kc
	12
	11
	11
	10
	10
	9
	9
	8
	8
	7
	7
	6
	6
	5
	5
	4
	4
	3
	3
	2
	2
	1
	
	

	Ka
	6
	6
	5
	5
	4
	4
	4
	3
	3
	3
	3
	2
	2
	2
	2
	1
	1
	1
	1
	
	
	
	
	

	Pg
	4
	4
	4
	3
	3
	3
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	Pgi
	7
	7
	7
	6
	6
	6
	5
	5
	5
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	fW
	1 at all ranges

	fL/fLi
	1 at all ranges, ignoring shields

	fE
	1 at all ranges, ignoring armor and cargo holds


3.4.7: Tohit vs. smallcraft:

	
	Range:

	Weapon:
	0
	1
	2
	3
	4
	5
	6
	7
	8
	9
	10
	11
	12
	13
	14
	15
	16
	17
	18
	19
	20

	Lb/Fb/P/Pg
	3
	2
	2
	2
	1
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	L/Lp/Li/La/Pgi
	3
	3
	2
	2
	2
	1
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	Lx/Lc/Lh
	3
	3
	3
	2
	2
	2
	1
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	F/Fi/Fa/Pc/Kb/K/Ka
	2
	2
	2
	2
	2
	1
	1
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	Fc/Fv/Fx/Kc
	3
	2
	2
	2
	2
	2
	1
	1
	
	
	
	
	
	
	
	
	
	
	
	
	

	Eb/E/Ea
	4
	3
	2
	2
	1
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	Ec/Ev/Ex
	4
	4
	3
	2
	2
	1
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	N/Gf/Dz
	8
	7
	7
	6
	6
	5
	4
	3
	
	
	
	
	
	
	
	
	
	
	
	
	

	Db
	4
	4
	3
	2
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	D/Di
	5
	4
	4
	3
	3
	2
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	De/Dc/Dx
	7
	6
	5
	5
	4
	4
	3
	
	
	
	
	
	
	
	
	
	
	
	
	
	


